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Write your name here
[Snm Other names )
Centre Numﬁer Candidafé Mumber

Pearson Edexcel

Level 1/Level 2 GCSE (9-1) ] [

‘Mathematics )
Paper 3 (Calculator)

Foundation Tier

Sampde Assessment Materials - Issua 2 Paper Reference

g‘\Tirmf.&: 1 hour 30 minutes 1 MA‘] [3 F )
You must have: Ruler graduated in centimetres and millimetres, Total Marks
protractar, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.
Answer all questions.

Answer the questions in the spaces provided
- there may be more space than you need.
Calculators may be used.

If your calculator does not have a  button, take the value of 7 to be 3.142

unless the question instructs otherwise.

Diagrams are NOT accurately drawn, unless otherwise indicated.

You must show all your working out.

Information

&

The total mark for this paper is 80

@ The marks for each question are shown in brackets
= use this as a guide as to how much time to spend on each question.

My Mark: oo

Action to help me reach my target:

(e.g. MW clips you will take notes on)

My target for the actual GCSE: ..................




Answer ALL questions.

Write your answers in the spaces provided.

You must write down all the stages in your working. 3 '
1 Write 2148 correct to the nearest 100

2100

(Total for Question 1 is 1 mark)

2 (a) Simplify 8x—3x+2x

AU
33

+r,
(b) Simplify 4y x 2y
ML)
3¢
g%

(Total for Question 2 is 2 marks)

3 There are 6760 people at at a rugby match.
3879 of the people are men. % Ls€ &o or

1241 of the people are women.

/
\ . CO\MW o

W) ) i of the children are girls.

7./ Work out how many boys are at the rugby match.
) ( > YL 2239 < |5 (.1
Nuovbsr of cla Ndwep = G160 ~ 381 1 124 ]
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(Total for Question 3 is 3 marks)
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4 Here is a grid showing the points 4, B and C.

MWg

(a) Write down the coordinates of the point A.

(b) On the grid, mark with a cross (x) the point (1, 2).
Label this point D.

(¢) On the grid, mark with a cross (x) a point E, so that the quadrilateral ABCE is a kite.
(1

(Total for Question 4 is 3 marks)

Mw 22 b

Faiza buys

one magazine costing £2.30

one paper costing 92p ArMou Wt e (3 Ckﬁﬂ%i v

two identical bars of chocolate
A 5\5 .00 - 1%50?

Faiza pays with a £5 note. o™
She gets 40p change.
g p g ‘:'f:%gn “6@ E-L.;of“]lp
Work out the cost of one bar of chocolate. T - £ 3.22
p { I N o 2-30 -
BlL-60 - £2.30 = £
230p -92p = 138p

. _ fc?w. P -
38p z 2 =2F 67p

@ :go‘( CON\{MtQ 'mOCQ(S (Total for Question 5 is 3 marks) DTLf’:O 6‘7
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6 The bar chart gives information about the numbers of students in the four Year 11 classes : '
' at Trowton School. =
Q9
O
B
w8
aaf
i
2
B boys =
Number of Y ; % 2
students W girls o
o
2
R 11A 11B 11C 11D A
Class S

(a) What fraction of the students in class 11A are girls? (

Shola says, Mm‘k W\thévf \5 Heon o FNMUW
oC 24 nen o8

“There are more boys than girls in Year 11 in Trowton School.”

tmi

5 (b) Ts Shola correct?
You must give a reason for your answer.

ir I 1™ 5 ol
Gk +\2 + ¢
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The pie chart gives information about the 76 students in the same four Year 11 classes at
Trowton School.

Number of students in Year 11 of Trowton School

11A boys

11B girls

11B boys

Tolu says,

“It is more difficult to find out the numbers of students in each class from the pie
chart than from the bar chart.”

(c) Is Tolu correct?
You must give a reason for your answer.

—

\/
ot becosne 4oy hawe.. ™_meamne, By, o

———— ey

do.. % b whida 3 a Iridty. cabontinn, ioa,e S

30 8

C\ W ‘W\ (\Q’MW\ (Total for Question 6 is 5 marks)

2.

A

Pearson Edexcel Level I/Level 2 GCSE (9-1) in Mathematics - Sample Assessment Materials (SAMs) - Issue 2 - June 2015
© Pearson Education Limited 2015



(

7 Here is a number machine.

%b input ——p| %3 -4 {——» output
(a) Work out the output when the input is 4

L x3=12
)2-4 =3

v

(b) Work out the input when the output is 11

N+l =15 (M) 2 oruse ik & e d
(=3 =5
Edf\eo‘( Gx2=\8 15-&= H} 5 R

(2)
(c) Show that there is a value of the input for which the input and the output have the
same value.
“rial b ee0o? b — 3
5 —li (mu>fw6mmﬂwﬂ
325 ko
28 — i
When T input 17 2, the oubput a2 .(¢1)
Q__({ X3 =4 =X

e

Sx-4 =x
2x =4 =2

e (Total for Question 7 is 5 marks)

(2}

Con ebod get 1 f ey A
B -4 =
e oo umagme Nolution .
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8 1 yardis 36 inches.
10 cm is an approximation for 4 inches.

Work out an approximation for the number of cm in 2 yards.

| yovd = 36 inches ¥ % q 1)
1oom D Linches
p qoom =y 192 (M0 & G

w 1$0um = 2 Yowrls
rO 180em .

(Total for Question 8 is 3 marks)

9  Work out 234% of 150 Mw

USe Yout' cale o lafrr:
Q\M) 234% 150 Somehimes upo can

< Ioue Qercw\w%%
bops o 100

(Total for Question 9 is 2 marks)
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10 Here are four numbers.

\As 0.43 3 43.8% 7

Write these numbers in order of size.
Start with the smallest number.

0-430 0 428.... (0-438 0-437...

(M) = owerb ol to atber degmado o rerastoees

2 : F 4387
gy T 14381

(Total for Question 10 is 2 marks)

14 15 16 17 18

From the list,
(i) write down the prime number, ’6]

11 Here is a list of five numbers.

(ii) write down the square number.
=

Eyen W Yoo are not sure, howe oL gvess = yov
W\ITO\’\t %—déj\l* COWCI', avdl 17\7\?@ don 't 6‘?06 M)V\Ut,? @
| 6

Moo i 0o get 1t WG 7

{‘{' }(L{» = i é (Total for Question 11 is 2 marks)
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12 Here is a star shape.

L] L] L] L] L] - L] L] L

L L L] L] L [ ] L
L] L] L] ® Ll

[ ] [ ] ] [ ] L] ® L]
L] L ] L L] L]

L] L] L) [ ] L] L L]
L] [ ) e [ ] L] L] [ ] L L

The star shape is made from a regular hexagon and six congruent equilateral triangles.
The area of the star shape is 96 cm?.

Work out the area of the regular hexagon.

Made up g 12 RIwfiio (1)

6 ingide the heKgon
o \j\ﬁ% a 96
() cao
of ovea tf can trgle (O P -

- - 96211L= B-
TWJ/\ 6@( g (Total for Question 12 is 2 marks)
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" N2
147°
V
b d
‘ J
WXYZ is a quadrilateral. O\}r CO\lC J ’.O\ﬁ)r °

XYV is a straight line.

(a) (i) Find the size of the angle marked a.

130 -\

(i) Give a reason for your answer.

Angle ZWX = angle WXY

(b) Work out the size of angle ZWX.

kG + 33

—

260~ | ¥¥=

142 =2

Use )

AN
131} @

@

(Total for Question 13 is 4 marks)

E © Pearson Education Limited 2015

Pearson Edexcel Level |/Level 2 GCSE (9-1) in Mathematics - Sample Assessment Materials (SAMs) - Issue 2 - June 2015




5

14 The total weight of 3 tins of beans and 4 jars of jam is 2080 g.
The total weight of 5 tins of beans is 2000 g.

Work out the weight of 1 tin of beans and the weight of 1 jar of jam.

SHns = 20009 ‘17_\_,5

1N = 409 —
>2hns = 12009

2080 ~ 12L00 = 3"30}

e jors = $¥Cg | <l
| jor =P 2209

jarofjam .. 22 O g

(Total for Question 14 is 4 marks)

tin of beans é{’ O O g
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15 There are 25 boys and 32 girls in a club. u 1 2'
% of the boys and % of the girls walk to the club.
The club leader picks at random a child from the children who walk to the club.

Work out the probability that this child is a boy.

Z of 25 = Zx25 =10 boggs el b
S

| < A 2 =16 g\\\r‘} wou i
@ "\‘zl o} B = 2/)(3
o+l = 26 childran Wodk

&wu
J@M fre 00> T
(Total for Question 15 is 3 marks)

10 valant
ol nIivai
L6 “

" |10
[of they hawe W% 77
b tied to A Wfy it (m% dome
/0 ‘uwm@dﬁ& v 0
aWomee the Mﬂfmﬁ Mot ]

[ Note Fhe importonce vy showlvg wetkivgy oot
0. 5 gub M Vit

26 1
S [witbovt 12 does NOT .
gl mg Mokl ]
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16 Change 72 km/h into m/s.
I =z T2 000m
@ 12000 matees 1 1 hour L = éo
N ¢ 1200 mobres T T L 260
@ 20 Mbres un | See :
U)Ca“' 60 l+ FUV\'S Odj (Total for Question 16 is ?mal:l?s)’,_\
'jogf o/ oyt Apecol J @
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17 Here is a rectangle made of card.

The measurements in the diagram are in centimetres.

Lily fits four of these rectangles together to make a frame.

annotete

'2 2L W V 4
a@ foM

5

U,
The perimeter of the inside of the frame is P cm. 80

(a) Show that P = 8x —4y

e widih T8 Ax -y Y = 2x. -2y @
P= 2%t (21-29) + In + (2%~ C\
P = 8% -L

. i

Magda says, QW M (@NQM 1 A0 ot W
“When x and y are whole numbers, P is always a multiple of 4.” W b e /)hown

(b) Is Magda correct?
You must give a reason for your answer.

‘\es

_______________________________ fx - ka) L (R - ).
I .k Yol Whole. nuwdws Yen 5o T3 Qx-g

S0 Ut (1ney) 16 a multfe of & @

(Total for Question 17 is 4 marks)
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18 The diagram shows a trapezium ABCD and two identical semicircles.

MW
"+

A< 28 cm B

Tormwae

Needed :
s L
A= Xl
De——DR2cm——> C
The centre of each semicircle is on DC. 7‘\(@0\ Jb. ‘HO{}C )/'LU M
Work out the area of the shaded region. _ )cc A Tb) X \4

Give your answer correct to 3 significant figures.

fveo 0% Troperiom = Ai;((qi-\o)x\q

L arzt28)xll
,,LA{

- ,,L,(L&»OK!Lf
1
= 280 ®&U{%
Diaveks ¢ o (enmiciAg =11~ 1 = Bl »\\)
Y Taehwd A 50"‘":;9@ A \J(’

Q\Y(.

A=Tix 3"
A-am = 28274 Ay

Ao = R¥0-2%-2H: 25132 253 o

(Total for Question 18 is 4 marks)

@ Pt ceqs o find shadad. adea

FUOW  onyy ansuer 2B1-F = 263
(51 onky gebs Zmudas) e,

Tulo seictiolls moke, a Gl S

Z‘%’

[ro pots (o G e et 29
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19 Asif is going on holiday to Turkey. MW% 'H'UUJ ¢ (h o .

The exchange rate is £1 = 3.5601 lira. u\t\f( €XC'/‘0\J\9{ H‘ 15
uithey X of T

Asif changes £550 to lira.

(a) Work out how many lira he should get.
Give your answer to the nearest lira.

550 X 6'560' l\/\
- 145%-0535

Asif sees a pair of shoes in Turkey.
The shoes cost 210 lira.

Asif does not have a calculator.
He uses £2 = 7 lira to work out the approximate cost of the shoes in pounds.

(b) Use £2 = 7 lira to show that the approximate cost of the shoes is £60

1 = pd
o | 7 lira = £ %xao@

210 lia = £60

@ Wik cofvecs colemelon

—
-—

(c) Is using £2 =7 lira instead of using £1 = 3.5601 lira a sensible start to Asif’s method
to work out the cost of the shoes in pounds?

You must give a reason for your answer.

Yoo bepae B D600 13 cloje 1 3-5
Wi B 3h . Ty we doolble Wi e
et Flhea, Didirg 210 by T IS ety

becowe B4Lt:=2). @

(1)

(Total for Question 19 is 5 marks)
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20 Here are the first six terms of a Fibonacci sequence.

13 2
112358-;)___]]3_(1

The rule to continue a Fibonacci sequence is,
the next term in the sequence is the sum of the two previous terms.

(a) Find the 9th term of this sequence.

St+¢= 13
g x\5 = 2} @ o0
421 = 3 5|+

The first three terms of a different Fibonacci sequence are

a b ath  oklYy Dy 4.%1,}
(b) Show that the 6th term of this sequence is 3a + 5b

L‘_ﬁbm[o b+ (ath) = at2b i
Sth e o @w\o)-r(%#?—b) pUREY

G“‘femﬂ Lo (mnb)wlaﬂw dat5b @
2

Given that the 3rd term is 7 and the 6th term is 29,

(¢) find the value of @ and the value of b. _k \)Q
%"\ .o o +b =T @ 2

0
53
ct om 3atsb =21 O 0\%
2a +3b = 2| @ sowg,wl“”‘\o
g tie -6 2b= ¥

_@‘We’% =Y. . B T, M)
E,Ulaﬁa in (D ath=3% b=L-,-"BO

asi. (3)
CJA,P,(k N @ 9+ E = 29 (Total for Question 20 is 6 marks)

A

S’eg{w% 3, %, U, 1%, 29

N
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21 In a survey, the outside temperature and the number of units of electricity used for
heating were recorded for ten homes.

The scatter diagram shows this information.

A
j:{\ I et
77 Sl Aj)
S ALWM N }
1\; X \f} : : : o
\19 ; “
Number of units used | 5 N 7]
TUE i ! \ ¥ ] -
;\ i - deS,
PSR )
20 ! N, ‘l
. =g ['Ne of

—
&P

-
Bl
y

5 % 5 10 15 20 25 30
Outside temperature °C
Molly says,
“On average the number of units of electricity used for heating decreases by 4 units
for each °C increase in outside temperature.” W @Wt )
(a) Is Molly right? @ __59 3

Show how you get your answer.

Guaicliotz — b = -2:42 (1) oradiont T 2-¥3
19

(b) You should not use a line of best fit to predict the number of units of electricity used
for heating when the outside temperature is 30°C.

Give one reason why.

e st closses are at A0°C 20 e [ine g hest it shopshoe
When i€ goty Wot pesple wilk Vse Jomg or atv
LMXﬁO\Mv’%( ' (Total for Question 21 is 4 marks)
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22 Henry is thinking of having a water meter.

These are the two ways he can pay for the water he uses.

- )
Water Meter

No Water Meter

A charge of £28.20 per year A charge of £107 per year

¢

plus

91.22p for every cubic metre of water used

1 cubic metre = 1000 litres

N 7

Henry uses an average of 180 litres of water each day.

Use this information to determine whether or not Henry should have a water

180 Litroa un 1 douy g =365 days
«365  65Y00L 1 yeos (7))
21000 {5 3 lble metreg in 1 Yo
o 65 Fx 22 = 5T71315h punee

odd on MS&(’NB
£5f1 93 <~ 2% 10

%63 because it will sepe sawe am £ 18-87.

@ COMvect Jecinm
W\HA COTK)d’ f\SUf(’,

(Total for Question 22 is 5 marks)
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23 Aand B are two companies.

The table shows some information about the sales of each company and the number of
workers for each company in 2004 and in 2014

Company A Company B
Sales Number of Sales Number of
(£ millions) workers (£ millions) workers
2004 /320 2960 48 605
2014 \388 / 3200 57 640

(a) Work out the percentage increase in sales from 2004 to 2014 for Company A.

ncrese = 3883203 ©8

9, indese= 6% x (00 Qﬂ%@l

ich company had the most sales per worker in 2014, Company A or Company B?
You must show how you get your answer.

gales —+ worlter

Compawry A=H  38% < 3200 = 12125 @
o b = 5F T 6w0 = O 0% 0% —

0

@m[ﬂwffuﬁ”r& 50 CQV\MWHH~ )
e  ored

@ Cn do 3%?5%8’0‘@000\0 2200 = 1121250
& TYON 000 = 6%0 = ¥ 31062-50 (3)

(Total for Question 23 is 5 marks)

TOTAL FOR PAPER IS 80 MARKS
Congony A Wit 0\ B 0-0%90. .
Qﬂ S E\VLY & F¥1062-50
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